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Time:3 hrs. ,Jt=o,,;,.* , Ml*. Marks: 100q,h,lB -_'"'-
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I a. What is Tribology? Explain the$tltd,usfial importance of Tripffip;gy. (08 Marks)
b. Explain with neat sketches,tho rking of Ostwald's vis&meter and Saybolts universal

viscometer. ;" (I2Marks)

2 a. Discuss major prop*grtios'of an ideal lubricant. ,,i (10 Marks)

b. Explain with skeLp.h6ffie regimes of lubricatio4r. * (10 Marks)

.,,."$ffi-
3 a. Define frictig ,What are different types g=f friction? Explain any two types of friction.

(10 Marks)

Tribologi,1ffh=-

(IU wtarKS',r .::=.- . \..
b. Explai$<i'#den and Tabor's Adhe theory of friction*;;=..,,,,; (10 Marks)

*V*"s
" \m!'4 I4 a. Define wear. Briefly explaffie classification of,ry6'ar. :""'", (10 Marks)

b. List out various wear testffiffiethods and wear stddards. 1*:l''"i1 (l0Marks)
::: ::::: &

-(&' ", ,:, tssu""s\

5 State the assumptidns and derive Reynglfu 2D'equation. 
{.r, I (20 Marks)

,.*
6 a,. Derive the F€troffs equation fr: iffidtional fo'rce, ,T-orque and Coefficient of friction in

lightly tdded bearing. u,,, (10 Marks)

b. A fugJdtrmal bearing of$ [ir compressor whiCh is lightly loaded has the following
specifitaiions. Joumal a;amdb} 6.25cm, bearingt'length 5cm, radial clearance 5x10-3 cm,

r"aiat load 91.5 N, \riad,ty O.zWA p,+,jW"F coefficient of friction 0.042. Determine

,;+{'ffipeed of the Joup4J-;(ii) Power Loss. ;*$)" (l0Marks)

"'l''j" r:" 

" 
;r,.

7 Derive an expffion.for pressuS#didtilbution for plane slider bearing with a fixed shoe.' 
Also state f;-ieaszumptions. "*'r (20 Marks)

,.,,,1.

8 a. Derive an expression foillffiharge, pressure distribution and loa{ carrying capacity of
hydrostatic bearing. ''=,. ,,. (12 Marks)

b. A hydrostatic step.,pearing has the following data:

Diameter of shaft--ll} 0 mm Diameter of pocket : 100 mm

Vertical thrustp&aring:'69 x 103 N Extemal pressure : Zeto
Shaft speed: i500 rpm Viscosity of lubricant:30 cP

Describeoil fflm thickness :0.0125 cm
Determi ,,(i) Rate of flow of oil (ii) Power loss due to friction (iii) Coefficient of friction.
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